


X $S=1:250

Mz [i:1]

.677.582

B 2 ECA17%400x 400 L=32. Om

L

BM. 2 H=677. 724

£=677.882
o
. . . . . . . . m . . . . . - . . .
T — _ T — - S017.431 — - e meS T - - T T T - T - - - T - - - - - - - --- - = - - 1T _.o/7.6ll

© —— - A ®r3
o ~ o
h bl o o
S o ) ™
677651 ® - 671791 - 671.860 - 677.868 -677.966 S (F877.999 .678.087 678,098
e g W 5 8
o o = ) -
@TZ : © = e m\ ® )
SCCCCC- -t =----——— .677.623
————— & .677.273 L I ,éW;ffff,,,,,,vﬁL,,,,E,_
| N O
[ ! . 677. 255 ! .678.326
| |
|
| 677,
| s .
61 4@@ | BM. 3 H=677. 839 . D) ;

BEE LFEWL

A4 ¥YLA—TY 3/9 /

D SAHIE N=1H /

[
<<
— —

e BT m XS
L {e 480 Rl

N —
c10O
o O

\3 \3 19
680. 000 o o W 680. 000
N
o o>
] BRIt ] BRIt
[ [ [ T LI [ T[0T [ o [ [ g— T [[[ [ [ ]
o V677.323 / o V677,394
675. 000 675. 000
? T B 2 BM.|3 = — BM. 3
— H=677.724 H¥677.839 — H=677.839
1250 7 1. 250 7
DL=670. 000 DL=670. 000 [=8.000 D=0 111 L=8.000 D=0.063
L=8.000 D=0.016 i=0.2000% i=1.3875% i=0. 7875%
o 3 i 8
& e 2 ey 2 ? N 2
© © © ©
[ [ [ [
7 * B ot g * > 2 o
it [ET] = it [ET] =

(KB XES) (KB XiES)

I I I I I I I I I
© ™ o~ — o o — © —_
— D — ™ (9] Lo — () —
~ ~ (o] (o] (o] (o) (o] [=2) (=]
~ ~ ~ ~ ~ ~ ~ ~ ~
© © © © © o © o ©
I I I I I I I I I I
(o] [ee) © N © — ~ — D N
~ g - 3 S > 3 S o ]
HEKEES s ~ ~ ~ ~ ~ AEKEAS r '\' N~
~ ~ ~ ~ ~ ~ ~ ~ ~ ~
© © © © © © © © © ©
I I I I I I I I I I I
[ee] ~ © ™ © Lo — Lo (X < N
2 A b < S 3 B = 3 o 3
ERKBES ~ ~ ~ ~ ~ ~ ~ BRKBHS ~ ~ ~ ~
~ ~ ~ ~ ~ r~ ~ ~ ~ ~ ~
© © © © © © © © © © ©
I I I I I I I I I I I I
o — ~ o o~ o < < o o < <
= o 3 =3 3 =3 > S 3 S > S
o BB ~ ~ ~ ~ ~ ~ ~ o GO S ~ ~ ~ o
~ r~ ~ ~ ~ r~ ~ ~ ~ ~ ~ ~
© © © © © © © © © © © ©
I I I I I I I I I I I I
§ § § § § § § S § § § S THR20FEE WMEMABREISE
B m B B . . . . . . . . B BB . . . . = T . o ——
5 3 S i = S - g S - il P IR 2 N
I I I I I I I I I I I I .
o o o o o o o o o o o o BTE 545 %
g S g 3 S g g & g g g &
R OB OBE B o ~ © o Te) ~ ~ ™ = OB B < ~ ~ ™ KA AT
\ \ [ \ \ \ \ \ ‘ ! ! ! fr& #E BE BiE
Fehe A an 1=
A J=1 £ o o o o Te) o o —_ pl| =1 £ o o o —_ ¥ @y B & 15
= 3 = K 3 = ER- 3 = ER- B  Jwmaws|ms -
ettt | skt AR EEREE | B
i) il B T
HlEsn st 0B EEEME | FR Bt
AEH FERSME




15.5

DL=675. 000

DL=675. 000

DL=675. 000

i
)|

GH=677. 869
FH=

70.0

GH=677. 847
FH=

64.0

GH=677. 811
FH=

57.0

GH=677. 730
Fh=

i

0.5

0.2

0. 43

0. 43

0. 43

Sz 2x1IO
AIOIN=2IDN

0.4

0.6

0.2

0.43

0.43

0.43

S22 IO
AIWOIN 2N

0.4

0.6

0.2

0. 43

0. 43

0. 43

s s3I0
PIOIN=2N

0.4

0.6

i il
i R

0.2

B T

® B T

0.43

LERET

0.43

TRERET

0.43

SHEMREMET

s sz zm=mO
AIWOIN =N

0.4

‘E;(

98. 1

GH=678. 014
FH=

95.0

GH=677. 974
FH=

87.5

GH=677. 962
FH=

80.5

GH=677. 852
Fh=

_ DL=675.000

T

_ Di=65.000

=5

_ Di=676000 0
DL=675. 000

V671.323

V677.39%4

C 0.5
R 0.2
R 2 —
w1 0.43
w 2 0.43
W 3 0.43
W 4 0.3

L 48 R
C 0.6 0.5
R 0.2 0.2
R 2 - -
W 1 0.43 0.43
W 2 0.43 0.43
W 3 0.43 0.43
W 4 0.4 0.3

L 48 R R
C 0.6 0.8 0.4
R 0.2 0.2 0.2
R 2 — — —
W 1 0.43 0.35 0.43
W 2 0.43 0.35 0.43
W 3 0.43 0.35 0.43
W 4 0.4 0.2 0.1

TR25FE BERABRETIE

&S 24 # W R 1:100
ETE54 5 1%
HimET KT
BT & BE BE st
% % OB &5
ETERMNE e —f&
JEt=4 st dLA
RERME | FlU T
BlEs | X4 LR TEESE | FR R

RERH

FEEME




K B I F M X V=1: 50

“H=1:100
L {8I481;& R {EI{E;E
680. 000 QD & N o2 02 Q2 680. 000 o2 S Q2 o >
Eokm1E
B B aEcaliE (FF35) 400 x 4008!  L=32. Om G-B500-L500-H500 B B4 ER{AlE (B ) 300 x 400%!  L=16. Om
_ FH=677. 862 _ FH=677. 922 FH=677. 929
FH=677. 712 FH=677. 835 Fi=677. 811 e e
~ _ _ FH=677. 471 =0/
I FH=677. 277 %/ FH=677. 362 . FH=677.394 FH=677. 397 ”L
I A ; 1T T o
R B ) SY =¥ 37 5
bey— =y =t @& 8 s =@ = & & 8 & g = 5] 2 2 ®
FH=677. 323 _ FH=677. 312 FH=677. 311 _ FH=677. 394
FH=677. 162 FH=677. 284 FH=677. 276
i 9 - BERT
A\ ¥4 Ay 4 -
DL=675. 000 :F [E] X :\l'll_} : ; 88 DL=675. 000
Q> & oD o2 02 Q2 S o2 02 Q2 o o
j‘/au_b%Z*kﬁa__\To
BHEAEAE B B4 EEE (F53EY) 300 x 4008!  L=16. Om
N X JH] 1] 4. N X JIJ 1] _q. L faran a5 S S 4. % Km FH]
BHAEEIE BFEEY) 4008 s=1:10 B B 4AEEI;E BFEEY) 3008 s=1:10 S8 0300 1ZEER]  s=1:10 7 1z
= G-B500-L500-H500 S=1/20 ™
\ V4 —
530 425 425 420 1040 :Fﬁ 15“ ﬁ (A A)
i 800 800
i & | J] ~ i 150 500 150 150 500 150
| = | ® |
: ‘ \ | —
|
| 1 \ | s
| | | I |
2 o 8 g
3 o S 3 | | S _ h V-Fv4" #T-25
i 3 65 400 65 i i 60 300 60 ® i } o i | g FH=677. 811 /
| [ } } | <~ [ } }
} } ‘ [ } } 1 1
| \ \ [ \ \ S | ‘ | |
| | | | | | = | T e e FH=677. 397
I N s I I /f “//\— |~ (=3 | | | ; o QQ
! 3  PZA% ‘ ! o ! \ \ X
\ \ [ . _ o [ \ Y A S N U N N ® VS300%!Y
| 2 7 EHaLHY— b ) | i e SPTZDEL 480 | i 240 | o o | A Al B / =
3 | | HRERERC-40 gl = | | S — | 8 B VS300% X T
i 8 / / / HEERARC-40 / / / / | o " s D A - EERARC4 J g | o Lt
N N N S S SR R SR SR S R E | | 420 | * B I  BEFHMEFRAIU20F t= 4cm 1 S 0 A o FH=671. 311 FH=677. 394
‘ | o . YL EETA _ — [ Lo 439943 40-0
‘ 680 ‘ | 670 | IFERET . MRAMAE (M—25) t =10cm o 0
780 440 FTEBET | BEI5-5240m Tt =15cm
XEEBEI - BEZFBRHETFTARAO220F t= 4cm XREI BAEZBRMEFZRAOA220F t= 4cm 900
ITERET . HEARAE (M—25) t =10cm IFERET . HMARA (M—25) t =10cm
TEBET . BE)59Yv-3040mmLL T t =15¢m TRERBT . BAI7yvr-7040mmEL T t =15cm Skt 1E #EFER (G-B500-L500-H500) 1HLY
B fR A B2 A1 (B E) 400 x 400% MER (10m4t=yY) B fh A B A1 (5 E) 300 x 400% MEE (10m%tyY) BitE 350 (10m2 7= 1) S8 300 EEME & o R il i e s
% N w B % B W 0B % N W Em % B W 0B % | T S S i’g Al | © 8; SV yU— k| 18-8-2588 | m®| 0. 26
R R .
B A4 & A & B ERU300%Y m 10. O B A 4 & A8 & BFERI300%Y m 10. O 5 &+ & @ 300 m 10. 0O % T R 2 — i) 2 m? 3. 1
ynt-kavy! ° ynt-kavy! ° B RC40-0 (10cm/Z 2 RE T v oA i 397457 40-0 2
{yn" =pavhy-p m 0. 20 {yn" =pavhy-i m 0. 15 X B B & -0 (10cmE) m 4. 4 TERET W 2 1.04 H e M h399%-32 40~ m 0. 8
E@a1vyy-t m®| 0. 408 E#aIvyy-+ m®| 0. 285 TRERET W 3 0.87 o E | TR EES ® 1.0 K g2y
HEREBETZ W 4 1.1 " % o 5 -
il e m? 1. 2 il e m? 1. 00 *ﬁﬂ:ﬁ7kﬂ§*ﬁ=£il
\
e ] # RC40-0 (10cmE) | m? 7. 8 = ] ## RC40-0 (10cmE) | m? 6. 7 : } :
H : H
|
9% RS ‘ A AR +
, ' Mo 3 _1 - =3 — 1 - |
ah 2= hi E X s=1:250 1= aramiX] S=1:20 — || em o
: #r ™ |
/ = | B I BAEBRREF7AOV20F t=4
Y300 = - ® i > o
K22 ) CEBET HBMRE (M—25)  t=10cn
390 T T K BR IKEg2E i
V=0. 039 x 0. 50=0. 02m3 \ 7 L—F :/7“% TREETL . BE57994-7,40mmLL T t =15cm
i [=8.0
I / E M| a=0039m L | o B B
L=500 N=484& | @ & | a=0157m
\
| B B
g 15 | N=12#&
455300 |
e 1
L=39. 0+16. 0=48. Orn Aoy —rE ?%1% TRH25EE HERAERETS
I R SEHEIESS 220 # = #R| ==
: : & | a=0.090n S N=5#% V=0.04x0.50=0. 02m3 N
é& BT 545 43
7 . 677754 . 679 EEE&‘BJAI(:E%#E&;"Z B&%ﬁ% 777777 “ ;%’“ & E *ﬁ A=O 040r.n2 bﬁiﬁm *T
aT2 ( © ) - BT & B2E BE ®t
SEEEEEREE S SR iﬁ' %%\ = T N=44% R E
| | ) g N EEEHE BE —@
| ! S WEtit Hert 4t -
. 67147 ! ‘ — N E@E*ﬁi’h% EﬁEu-l T
(& | BEE LEL i ‘
! ' ! Lo BEa MR AL TERENE | FR R
| | o4 Y VA—Tv 3/7 |
= | GO g woman / mEa FERNE




KRBT BETHRIEA20F t=4om
LIERRIE T KERRE M25 t=10cm

TIERRHET RC40 t=15cm

il
673.00
BER B E kiR
672.00 EEE 8 — S
s 672.00
I
S=1:500
HE (E D=0 36m_i=1.38% =
_ . = 8 S ]= 8
HEEERAR| o N o S i
HEEEE | o < & =
] = P Sz <
HiRERE o < o o ~
- - o ~
mMEEg | o s s w 672.00
o= e s = = <
KBM=672.180 PT25. 2{stsaMH= 0y
4+ =
HERMA 1:100
© ~ w w 672.00
i S S ~
s (3.6+3.7)%10.0/2=36. 5 E E =
= (3.7+3.5)%10.0/2=36. 0 e = =
(3.5+3.8)%5. 2/2=18. 98
36.5+36.0+18.98=91.48m A=91.48m
FEHR@EBE (PT20.0) 1:20 672.00
mr——
£, 30 -
672.00 Y
Me = — Bl S%aR
. 2 o
BEERK R ()
g
™~ pEsrtEs
579
—— INEEHGEE  (18-8-4088)
—— HEE®»A  (RC-40)  t=10cm

T 1

100

PT 25.2
GH=672. 152
FH=672. 150
£ Al 1.3
SETER| 0.1
i = ®REI 38
T |
tBT 3.8
TRI 38
PT 20.0
GH=672. 241
FH=672. 235
ol 1.1
3— RETER| 01
X E-dop 3.5
J‘l tET 35
TRI 3.5
PT 10.0
GH=672. 381
FH=672. 383 B A 13
SELER| 0.1
N —J xREL 3.7
; tET 3.7
TRI 3.7
PT 0.0
FH=672. 473
GH=672. 503 p— 3
FRELTER| 0.1
— ] £ET 3.6
‘ \ ! tEIT 3.6
TEI 3.6
TH2DEE HMERBEWHELIS
W - BEE |6 _
W@ R "
BT5E5 4 8 5%
HEGAET KT
m® 5% e
# | *# r#
HES 2 FEhz 1
X Wm B % 15




WNREHAERE EREK 1:50
@PT0. 0~PT16. 1 (@PT19. 6~PT25. 2
@ L=16.1m @ L=5.6m @O+2@ L=21.7m
B ith#f
672.472 :
595
_ 608
10
PT0.0 PT10.0 PT16. 1
ZNREHRXERE ERFE 1:50 N ARNO—EE 4 A BUBTEAbRITEY)
B ot PT16. 1~PT19. 6 ( B4 xR B ERE &R
pa— L=3. 5m K
- o Figm n 672. 221
5?221 Z%Tzn &2 190 672. 277
586 521 595 587
PT19.6 PT20.0 PT25.2 PT16.1 PT19.6
ZNREHAXERE FEHFAERX 1:20 WREHAXERE FEHERX 1:20
PT 0.0 PT16. 1
FER B = iR 1:50
300 300 F
Toee— PT16. 1~PT19. 6
T (s I\ T I\
v \ ® \ 2.44 0. 91
" - | % | 1.22 @ 1.21 @
° ‘ ‘
[
‘ = | J X @D@&+E  t=0.9cm
S | 3005 B HH 44 | 583 |
= — | J pT [Ham [Bm fausy-+ )| B () | st (n) D2. 44%1. 22=2. 98
I 1 0.0/ 0.71{0.54]  0.30 1.45 0.06  NBEAEE  (18-8-408B) @20.91%1. 21=1. 10m
|~ NEVE fztEERE  (18-8-40BB) 10.0] 0. 61/0. 54 0.26 1.24 0.06 _ .
16.1]0.60/0.51 024 | 1.22 0.06 —  EBRE  RC40)  t=10cm @+2 & 4.08m
— EWRE (R4 t=10en 19.6/0.60(0.51( 0.24 | 1.22 0.06
20.0/0.59{0.51| 0.24 | 1.20 0.06
25.2[0.52[0.49] 0.21 | 1.06 0.06
HWEREER 1:200 FHSERE WERBEEHAIETS
EHE - BE 8 _
S t=dem ZHEWE R 2
SEEUMT 3.6+3.8=7.4m
i @ © @ "" ® - SHEERRMES (D=( 3.6+3.7) ¥10.0/2=36. 5m BriE 5 4 8 SR
@=( 3.7+3. 5) *10,0/2=36. O H&WmET KT
@=( 3.5+3.8) *5.2/2=18.98m
N o] = &
OH2HR=91. 48m=91. 5 s L
! L I . T & i A
S =] 5] g
£ k £ £ mEE 2 ¥Edz 2

®

W OE &

5




	位置図.pdf
	01平面縦断図（54号）.pdf
	02横断図（54号）.pdf
	03構造図（54号）.pdf
	548号線その１.pdf
	548号線その２.pdf

